[A#5Why T F]

AJOvSH
1. K 2. BB 3. UK SETHRE s B =L
D1. EAF#H (M &m JTA) 60 60 2 2-0 1
2. BEEBEFH (EMILUTS) 06 36 2 0-2 3
3. WARFIZE(ZTLREAILTA) 06 63 2 1-1 2
BJOwY
1. il 2. L 3. 5% 4. Fi SETHE i B =L
1. TR EIE (D7—RKTA) 63 61 63 3 3-0 1
2. IWUF—M(STT) 36 61 61 3 2-1 2
3. GEEE (f=HNFS0) 16 16 26 3 0-3 4
4. FIFHBEE(TLAFALILTA) 36 16 62 3 1-2 3
(1.2 b—F A2 R])
ADT. ERFH (m&m JTA) 61
(B2)2. IUF—M(STT) 61
(A2)3. IUAKRFIR (TLREAILTA)
62
BN4. TTRAMREIE(T7—XRTA)
(3G EE:]
2. lUF—M(STT) 61
3. IUARFIE (T LRAAILTA)
[5~76REE]
1. BE 2. 5% 3. ¥ SETHE B R JE sz
(A3)1. BEBRF GzaIUTS) 63 06 2 1-1 6
(B4)2. HiEEHE (f=H=FS0) 36 26 2 0-2 7
(B3)3. FIFHEE(TLAAALILTA) 60 62 2 2-0 5




